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Aircraft design engineers use the formula V=V((84 ILY(CS))

to determine the safe landing speed of aircraft where
V = safe landing speed in feet per second
L = gross weight of the aircraft in pounds
C = coefficient of lift
S = wing surface area in square feet
What is the approximate safe landing speed for an aircraft

with a gross weight of 9000 pounds and a wing surface
area of 225 square feet, when the coefficient of lift is 2.8?

A. 4fsec B. 110 fisec C. 414 fi/sec D. 22,000 ft/sec

Simplify : V75  Simplify: _syg__,
23

M235=2  32+82=?

Sketch: vy = ﬂ X by the windmill on Jone’s farm is

#22 Spring 2000 MCAS Test Item
The power, P, generated in an hour

proportional to the cube of the wind
speed, V, as shown by the formula
3

P=0.015V
‘Where P is measured in watts and V
is measure in miles per hour....

f(t)= tz Rewrite in radical form: x”*

imgfing 105 it vrale

Use the ~ calculator key as an exponent key.
Put exponent in parenthesis if it is a fraction
and use division key for fraction bar with top
divided by bottom. Where are square root and
cube root commands found on your
calculator?

b. What wind speed is needed for the
windmill to produce 120 watts of
power in an hour? Explain.
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Solve: (x+ 5)/3 =2
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